
Effective July 18, 2025
Modified July 21, 2025

Parts List 
03WS Trim

Order Part # Description List Price

101452-1 03WS Trim Hardware Kit $44.28

101454-1 Tailpiece Assembly, Rim, 03WS $14.74

101480-1 Tailpiece, .695 long $5.67

101621-3 Screw, 1/4-20 x 2” PPH $1.17

101621-2 Screw, 1/4-20 x 2-1/4” PPH $1.17

101621-1 Screw, 1/4-20 x 3” PPH $1.17

PP-5067-10 #10 Lockwasher $0.05

100716-15 03WS Trim Assembly, 626 Finish $226.00

100836 Escutcheon $102.60

ECL-445K-7 Rim Cylinder (sold separately) $57.00

IC7R-626 Interchangeable Core Rim Cylinder $57.00

101257 page 2

TOOLS AND SUPPLIES

Safety Glasses
Pencil

Center Punch
Hammer

Drill Motor
1-1/2" Hole Saw
Drill Bits & Taps

Screw Driver (Phillips Drive)
Tape Measure

Cylinder sold separately
5 pin - RC65-X
7 pin - IC7-X

p/n 101454-1
03WS Tailpiece Assembly

p/n 101480-1
Tailpiece, .695 long

p/n 100836-
Escutcheon

p/n 101452-1
03WS Trim hardware kit

(supplied with cylinder)

p/n 100716
03WS Trim Assembly

p/n 101621-3
Screw, 1/4-20 x 3" PPH

p/n 101621-2
Screw, 1/4-20 x 2-1/4" PPH

p/n 101621-1
Screw, 1/4-20 x 2" PPH

p/n PP-5067-10
#10 Lockwasher


